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Answers

1. 56

2. 63 × 23

3. 510

4.

1⁄87

5. 24 × 84

6. 67 × 27

7. 742

8.

1⁄48

9.

1⁄35

10. 430

11. 854

12. 4

13. 7

14.

1⁄39

15. 1

16. 1

17. 514

18. 1

19. 818

20.

1⁄43

Use the law of exponents to rewrite each problem.

1) 59 × 5-3 = 56 2) (6 × 2)3 = 63 × 23

3) 57 × 53 = 510 4)
8-7 = 1⁄87

5) (2 × 8)4 = 24 × 84 6) (6 × 2)7 = 67 × 27

7) (76)7 = 742 8)
4-8 = 1⁄48

9)
( 

1⁄3 )5 = 1⁄35
10) (45)6 = 430

11) (89)6 = 854 12) 41 = 4

13) 71 = 7 14)
( 

1⁄3 )9 = 1⁄39

15) 4
0

= 1 16) 4
0

= 1

17) 56 × 58 = 514 18) 6
0

= 1

19) 89 × 89 = 818 20)
( 

1⁄4 )3 = 1⁄43
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